City and County of San Francisco
San Francisco Public Utilities Commission
Contract Administration Bureau
525 Golden Gate Avenue, 8th Floor
San Francisco, CA 94102

Amendment No. 3 between the City and County of San Francisco (through the San Francisco Public Utilities Commission) and Black & Veatch Corporation

Construction Management - Calaveras Dam Replacement Project (CS-911R)

THIS AMENDMENT (this "Amendment") is made as of March 2, 2015, in San Francisco, California, by and between Black & Veatch Corporation ("Contractor"), and the City and County of San Francisco, a municipal corporation ("City"), acting by and through the San Francisco Public Utilities Commission ("SFPUC").

RECITALS

WHEREAS, City and Contractor have entered into the Agreement (as defined below); and

WHEREAS, City and Contractor desire to modify the Agreement on the terms and conditions set forth herein increasing the agreement amount by \$29,500,000, for a total not-to-exceed agreement amount of \$68,000,000, extend the agreement term by two years, 10 months, for a total agreement duration of eight years, 10 months, concluding on May 24, 2019, in order to provide continued construction management support during the extended duration of construction of the project, amend Appendix A, and replace Appendices B and B-1 in their entirety; and

WHEREAS, Approval for this Amendment was obtained when the Civil Service Commission via the Department of Human Resources approved Contract number 4072-07/08 on December 15, 2014; and

WHEREAS, Approval for this Amendment was obtained when the San Francisco Public Utilities Commission approved Resolution number **15-0055** on **February 24, 2015**; subject to approval by the Board of Supervisors under Charter section 9.118, and authorized the General Manager to execute this Agreement upon Board approval; and

WHEREAS, Approval for this Amendment was obtained when the San Francisco Board of Supervisors approved Resolution number 104-15 on March 31, 2015;

NOW, THEREFORE, Contractor and the City agree as follows:

- 1. **Definitions.** The following definitions shall apply to this Amendment:
- 1a. Agreement. The term "Agreement" shall mean the Agreement dated August 2, 2010 between Contractor and City, as amended by Amendment No. 2 dated March 1, 2015.
- 1b. Other Terms. Terms used and not defined in this Amendment shall have the meanings assigned to such terms in the Agreement.
- 2. Modifications to the Agreement. The Agreement is hereby modified as follows:
 - 2a. Section 2 ("Term of the Agreement") of the Agreement currently reads as follows:
- 2. Term of the Agreement. Subject to Section 1, the term of this Agreement shall be seventy-two (72) months, or six (6) years, from the effective date as set for in Section 3.

Such section is hereby amended in its entirety to read as follows:

- 2. Term of the Agreement. Subject to Section 1, the term of this Agreement shall be one hundred six months (106) months, or eight (8) years and ten (10) months, from the effective date as set forth in Section 3.
 - 2b. Section 5 ("Compensation") of the Agreement currently reads as follows:
 - 5. Compensation.

Compensation shall be made in monthly payments on or before the thirtieth day of each month for work, as set forth in Section 4 of this Agreement that the General Manager of the Public Utilities Commission in his or her sole discretion, concludes has been adequately performed as of the last day of the immediately preceding month. In no event shall the amount of this Agreement exceed **thirty-eight million five hundred thousand dollars (\$38,500,000)**. Appendix B, "Calculation of Charges," attached hereto and incorporated by reference as though fully set forth herein.

As part of this contract Task Orders will be prepared in accordance with Appendix A, Section 2. Task Orders will identify a detailed project scope, sub tasks, staffing plan, LBE utilization, schedule, deliverables, budget and costs to complete the task. Each Task Order shall identify the entire amount to which the Contractor shall be entitled to fully perform and deliver to the City all work identified in that Task Order.

No charges shall be incurred under this Agreement nor shall any payments become due to Contractor until reports, services, or both, required under this Agreement are received from Contractor and approved by San Francisco Public Utilities Commission as

being in accordance with this Agreement. City may withhold payment to Contractor in any instance in which Contractor has failed or refused to satisfy any material obligation provided for under this Agreement.

In no event shall City be liable for interest or late charges for any late payments.

The Controller is not authorized to pay invoices submitted by Contractor prior to Contractor's submission of CMD Progress Payment Form. If Progress Payment Form is not submitted with Contractor's invoice, the Controller will notify the department, the Director of CMD and Contractor of the omission. If Contractor's failure to provide CMD Progress Payment Form is not explained to the Controller's satisfaction, the Controller will withhold 20% of the payment due pursuant to that invoice until CMD Progress Payment Form is provided.

Following City's payment of an invoice, Contractor has ten days to file an affidavit using CMD Payment Affidavit verifying that all subcontractors have been paid and specifying the amount.

Such section is hereby amended in its entirety to read as follows:

5. Compensation.

Contractor may invoice the San Francisco Public Utilities Commission semi-monthly and compensation shall be made as expeditiously as possible, but in no less than monthly payments on or before the thirtieth day of each month for work, as set forth in Section 4 of this Agreement that the General Manager of the Public Utilities Commission in his or her sole discretion, concludes has been adequately performed as of the last day of the immediately preceding month. In no event shall the amount of this Agreement exceed sixty-eight million dollars (\$68,000,000). Appendix B, "Calculation of Charges," attached hereto and incorporated by reference as though fully set forth herein.

As part of this contract Task Orders will be prepared in accordance with Appendix A, Section 2. Task Orders will identify a detailed project scope, sub tasks, staffing plan, LBE utilization, schedule, deliverables, budget and costs to complete the task. Each Task Order shall identify the entire amount to which the Contractor shall be entitled to fully perform and deliver to the City all work identified in that Task Order.

No charges shall be incurred under this Agreement nor shall any payments become due to Contractor until reports, services, or both, required under this Agreement are received from Contractor and approved by San Francisco Public Utilities Commission as being in accordance with this Agreement. City may withhold payment to Contractor in any instance in which Contractor has failed or refused to satisfy any material obligation provided for under this Agreement.

In no event shall City be liable for interest or late charges for any late payments.

The Controller is not authorized to pay invoices submitted by Contractor prior to Contractor's submission of CMD Progress Payment Form. If Progress Payment Form is not submitted with Contractor's invoice, the Controller will notify the department, the Director of CMD and Contractor of the omission. If Contractor's failure to provide CMD Progress Payment Form is not explained to the Controller's satisfaction, the Controller will withhold 20% of the payment due pursuant to that invoice until CMD Progress Payment Form is provided.

Following City's payment of an invoice, Contractor has ten days to file an affidavit using CMD Payment Affidavit verifying that all subcontractors have been paid and specifying the amount.

2c. Appendix A, Section 1 (Description of Services): The second paragraph of Appendix A, Section 1, Description of Services, currently reads as follows:

The WSIP CM Plan, as well as the Request for Proposals (CS-911R) dated February 22, 2010 (including all addenda), are hereby incorporated into this Agreement as if fully set forth herein.

Such paragraph is hereby amended in its entirety to read as follows:

The WSIP CM Plan, as it may be amended from time to time during the term of this Agreement, is hereby incorporated into this Agreement as if fully set forth herein.

- **2d.** Appendix B. Revised Appendix B (March 2, 2015) "Calculation of Charges," a copy of which is attached hereto as **Exhibit A** and incorporated herein by reference, hereby replaces Appendix B "Calculation of Charges" of the Agreement in its entirety.
- 2e. Revised Appendix B-1. Revised Appendix B-1 "Billing Rate Schedule (March 2, 2015)," a copy of which is attached hereto as Exhibit B and incorporated herein by reference, hereby replaces Appendix B-1 "Rate Schedule" of the Agreement in its entirety.
- 3. Effective Date. Each of the modifications set forth in Section 2 shall be effective on and after the date of this Amendment.
- 4. Legal Effect. Except as expressly modified by this Amendment, all of the terms and conditions of the Agreement shall remain unchanged and in full force and effect.

IN WITNESS WHEREOF, Contractor and City have executed this Amendment as of the date first referenced above.

CITY

Recommended by:

CONTRACTOR

Black & Veatch Corporation

City vendor number: 49916

Harlan L. Kelly, Jr.

General Manager

San Francisco Public Utilities Commission

Name of Authorized Representative

Seniar VP

Approved as to Form:

Dennis J. Herrera

City Attorney

By:

Julia H. Veit

Deputy City Attorney

Attached:

Exhibit A: Revised Appendix B Dated March 2, 2015

Exhibit B: Revised Appendix B-1: Billing Rate Schedule Dated March 2, 2015

Exhibit A Revised Appendix B (March 2, 2015) Calculation of Charges

As part of Contractor's proposal dated April 8, 2010, Contractor submitted billing rates, attached hereto as part of Appendix B-1. The Overhead and Profit Schedule, which list the requested tasks is hereby incorporated by reference. All costs associated with the development of the scope of work shall be borne by Contractor. The Contractor, with the assistance of the SFPUC, will be required to define the detailed scope for the tasks under this Agreement.

As provided in the RFP, the budget identified for tasks in Appendix B is an estimate, and the City reserves the right to modify the budget allocated to any task as more specific information concerning the task order scope becomes available.

Pursuant to Article V of Chapter 6 of the San Francisco Administrative Code, any contractor, subcontractor, supplier, consultant or subconsultant who submits a false claim may be subject to monetary penalties, investigation and prosecution and may be declared an irresponsible bidder or an unqualified consultant and debarred as set forth in that Article. The text of Article V of Chapter 6, along with the entire San Francisco Administrative Code is available on the web at

http://www.amlegal.com/nxt/gateway.dll?f=templates&fn=default.htm&vid=amlegal:sanfrancisco_ca. A contractor, subcontractor, supplier, consultant or sub consultant will be deemed to have submitted a false claim to the City if the contractor, subcontractor, supplier, consultant or subconsultant: (a) knowingly presents or causes to be presented to an officer or employee of the City a false claim or request for payment or approval; (b) knowingly makes, uses, or causes to be made or used a false record or statement to get a false claim paid or approved by the City; (c) conspires to defraud the City by getting a false claim allowed or paid by the City; (d) knowingly makes, uses, or causes to be made or used a false record or statement to conceal, avoid, or decrease an obligation to pay or transmit money or property to the City; or (e) is a beneficiary of an inadvertent submission of a false claim to the City, subsequently discovers the falsity of the claim, and fails to disclose the false claim to the City within a reasonable time after discovery of the false claim.

- 1. Compensation under this contract will be provided as: a) labor related costs by hourly billing rates for hours worked, and b) separately billed direct reimbursable expenses (ODCs). (Markups on ODCs are not allowable)
 - a) Hourly billing rates shall be the actual hourly base salary rate of each employee utilized for the work multiplied by the firm(s) individual firm Overhead and Profit Rate, or effective Overhead and Profit Rate (for substituted firms or substituted individual contractors). The individual firm Effective Overhead and Profit Schedule shall include all miscellaneous and incidental costs of work other than those as specifically defined below as direct reimbursable expenses.
 - b) Direct reimbursable expenses (ODCs Other Direct Costs) shall include actual direct costs (with no mark up) of expenses directly incurred in performing the work. All ODCs are subject to written consent by the SFPUC Project Manager.

2. Billing Rates & Overhead and Profit Schedule.

The Contractor's billing rates and individual firm overhead and profit rates provided in the Overhead and Profit Schedule and Appendix B-1 shall not be negotiable during the Agreement award process and the duration of the Agreement. The individual firm overhead and profit rates shall apply to the

billing rate of all individuals not listed in the Overhead and Profit Schedule (i.e., substitute staff and staff assigned later). The individual firm overhead and profit rates and Effective Overhead and Profit rate shall also apply to all amendments to the Agreement. If a new subconsultant is added during the duration of the Agreement, the new individual firm overhead and profit rate can be no more than the Proposal Effective Overhead and Profit Rate.

If an Individual Contractor listed in the Overhead and Profit Schedule is later replaced or substituted after the Contract is executed, the billing rate of any new Individual Contractor shall not exceed the billing rate in the Overhead and Profit Schedule for the position. If the Individual Contractor is replaced or substituted with a Prime or Sub-consultant employee at an hourly payroll rate, the firm overhead and profit rate applied to the replacement individual's hourly payroll rate must not exceed the Effective Overhead and Profit Rate. The Individual Contractor's hourly pay rate shall be verifiable by an executed written contract with the Contractor. Mark-up on an Individual Contractor shall be limited to 5% of the Individual Contractor's billing rate.

Contractor's billing rates stated in Revised Appendix B-1 (March 2, 2015) will be the billing rate for the listed individuals. Billing rates may be adjusted annually on the anniversary of the effective date of this Agreement as indicated in the Notice of Contract Award letter. The amount of any annual adjustment to billing rates is limited to a maximum of the CPI annual percent change increase (San Francisco Bay Area for Urban Wage Earners and Clerical Workers) for the previous calendar year, if the Index declines or shows no increase, billing rates will not be increased. Any increases in billing rates will be applied on a prospective basis only. The maximum hourly billing rate is \$220 per hour. In the event the maximum billing rate is to exceed \$220 per hour, the Contractor must obtain written pre-authorization from the SFPUC Project Manager and Bureau/Division Manager. Those who are allowed to exceed the maximum billing rate will keep the rate for the duration of the contract. No annual adjustment is allowed to billing rates exceeding \$220 per hour. Billing rates for staff in any position will apply regardless of whether it is straight time, premium time or overtime.

The billing rate for each listed individual may not exceed the lowest rate charged to any other governmental entity except the City and County of San Francisco. Additionally, billing rates shall not exceed Federal Acquisition Regulations (FAR) or Generally Accepted Accounting Principles (GAAP) rate; whichever is applicable, if both, whichever is lowest.

- Direct Labor is limited to actual salaries of project personnel
- Effective Overhead and Profit Rate: 1.98
- 3. Staff Changes: The SFPUC Regional Project Manager must approve the assignment of staff prior to beginning a task order as well as any staff changes proposed by Contractor. The SFPUC Regional Project Manager must also approve in writing any personnel changes proposed by Contractor after Notice to Proceed has been issued.

The Contractor should note that the City will only approve project staff substitutions when that change in personnel is requested by the City and/or beyond the control of the Contractor. Individuals listed in the Overhead and Profit Schedule and for whom resumes and qualifications have been submitted as part of the proposal are expected to be provided to the project team.

All staff provided whether proposed in the Contractor's proposal or proposed as a substitution or a staff change shall meet the qualifications for the position as stated in Section IV.3 of the RFP

4. Potential Delays to Project Schedule; Key/Lead Team Member Availability.

The construction schedule is an estimate; the SFPUC cannot guarantee an exact start date for CM services. There are potential uncertainties that could delay the start of construction, which in turn could delay the start of services or result in the temporary suspension of services under this Agreement. Potential uncertainties include, but are not limited to: delays in completing the environmental review process under the California Environmental Quality Act ("CEQA"), delays in the review and permitting processes required by Local, State and Federal resource agencies and delays in the availability of equipment and/or materials. In addition, until the CEQA review process is completed, the City retains sole and absolute discretion to, among other things, modify the project to mitigate significant environmental impacts, or elect not to proceed with the project based upon information generated by the environmental review process.

If there is a delay to the start of construction, the SFPUC may, depending on the reason(s) for and timing of the delay, elect not to issue a Notice to Proceed ("NTP") for Task 2 services (see Appendix A to Agreement, above) or temporarily suspend services at some point after issuing NTP for Task 2.

In light of the potential delay or temporary suspension of services under the Agreement, Contractor agrees to the following conditions:

- If a delay to the start of construction either delays the start of services or results in temporary suspension of services under the Agreement, the selected Contractor will guarantee the availability of the Key/Lead Team members identified in its proposal for a delay or suspension period of up to 6 months. For a delay in issuing NTP for Task No. 2 services, the 6-month delay period will commence upon receipt of the Notice of Award of contract. For any suspension of services after issuance of NTP for Task No. 2, the 6-month suspension period will commence upon the receipt of a notice of suspension from the SFPUC.
- If any construction schedule-related delay or suspension period extends beyond 6 months, the selected Contractor may substitute Key/Lead Team members. The SFPUC will have the right to approve any substitutions, which approval will not be unreasonably withheld. Proposed substitute personnel must meet all applicable qualification requirements set forth in the Request for Proposals dated February 22, 2010
- Any construction schedule-related delay or suspension period will count toward the annual rate adjustment process described in Paragraph 1, above.
- 5. Additional Subcontractors: Second-tier and pass-through subcontracting is prohibited. However, in the event that the prime Contractor and its approved subcontractors lack the necessary skills or expertise to perform requested services that are within the scope of the contract, additional subcontractors may be added to the Contractor team after obtaining pre-authorization by the SFPUC Regional Project Manager and Bureau/Division Manager.

6. Other Direct Costs (ODC).

Direct reimbursable expenses (ODCs – Other Direct Costs) shall include actual direct costs (with no mark up) of expenses directly incurred in performing the work. All ODCs are subject to written consent by the SFPUC Project Manager.

The following items will be eligible for reimbursement as ODCs from the provisional sum item 2 ODCs as indicted in the Overhead and Profit Schedule:

- Out-of-town travel for project related business ("out-of-town" shall mean outside the nine Bay Area counties: San Francisco, Alameda, Marin, Santa Clara, Sonoma, Contra Costa, Napa, San Mateo, Solano. For project related business travel within the nine Bay Area Counties, approved leased vehicles will be used);
- Out- of town meal, and lodging expenses for project-related business trips. Meal and lodging expenses shall be reasonable and actual but limited to Federal government per diem rates;
- Rental vehicle: traveler must select the most economical contractor and type of vehicle
 available and acquire any commercial rate or government discount available when the vehicle
 is rented. Rental Vehicle will be on an as needed basis and will require prior written approval
 of the SFPUC Project Manager;
- Personal vehicle use: Contractor will be paid per mile as established by the CDRP and State Internal Revenue Service and only for that portion of travel that is outside the nine Bay Area counties and non-routine. If the Contractor needs to use personal Vehicles for Project related business within the nine Bay Area Counties a prior written approval from the SFPUC Project Manager is required. Should the travel begin or end on a normal workday, the Contractor shall subtract commuting mileage from total mileage to calculate reimbursable mileage. The Contractor shall submit to the City an approved mileage log with its monthly invoices;
- Lease payments, fuel, maintenance, insurance, parking, and other associated vehicle expenses for Project Vehicles approved by SFPUC;
- Specialty printing ("specialty" as used herein shall mean large volume printing and color printing and requires written consent by SFPUC project staff and documentation of the written approval by the SFPUC must be included with the invoice);
- Specialty computer hardware and software (only with written consent by SFPUC project staff and documentation of the written approval by the SFPUC must be included with the invoice—all hardware and software will be the property of the City);
- Courier services that are project related and originated from the project site offices;
- · Cell phones for CM team members as required to perform direct work related to the project;
- Permit fees;
- Expedited courier services when requested by SFPUC staff;
- Safety equipment;

 Special services, used solely for the benefit of this project and not performed by the Prime Contractor or by the Sub-consultants, such as electrical testing, hazardous material testing, training, deliveries, diving services, office and field office setups and maintenance, and telephone and network installations and maintenance. All such service must receive prior written approval of SFPUC project staff and documentation of the written approval by the SFPUC must be included with the invoice.

Anything not listed above is not eligible for reimbursement. They include, but are not limited to:

- All other project business related travel expenses such as parking, bridge tolls, public transit, travel from Consultant's residence or home office to SFPUC facilities, unless otherwise approved in writing by the SFPUC Project Manager;
- Contractor personnel relocation costs;
- Any home office labor charges or pass-through, including but not limited to, administrative and clerical personnel time;
- · Personnel relocation and temporary assignment expenses;
- Entertainment expenses;
- · Home office expenses;
- Telephone calls and faxes originating in the firm's home office, standard computer use charges, computer hardware or software, communication devices, and electronic equipment;
- Meal expenses which are not related to project-related business trips, including refreshments and working lunches with SFPUC staff;
- Postage and courier services which are not requested by SFPUC staff; and
- Costs of preparing the proposal.

Office facilities (two work stations) will be provided by SFPUC in San Francisco at 525 Golden Gate Avenue for pre-construction phase services until the project field or the office is available. Project field offices will be provided by each individual construction contractor within thirty (30) days of the construction contract NTP. Both offices will include office furnishings, telephone services and equipments, internet connection, copy machine, printer and fax machine, to include maintenance and supplies.

7. Subcontractor Fees:

- a. Subject to above restrictions
- b. Shall be subject to written pre-approval by the SFPUC Regional Project Manager
- c. Subcontractor administration markup is limited to five percent (5%) of subconsultants' actual labor costs.
- 8. Retention is not required under this contract Left blank by Agreement of the Parties.

9. Invoice Requirements:

The SFPUC is automating its contracting and invoice payment processes with online software systems (SOLIS). The following processes are being automated: Contract Certification, Insurance Compliance, Task Order Certification, Timekeeping, Invoice Approval, and Invoice Payment. As part of its contracting obligations, the Contractor is required to 1) become an authorized user of these systems, 2) attend user training for these systems; and 3) utilize these systems for the purposes for which they are intended. Contractor shall not bill the SFPUC to use these systems. Contractor shall not charge SFPUC to send appropriate personnel to user training.

Contractor shall follow the invoicing and supporting documentation instructions as detailed in the SOLIS training or otherwise prescribed by the SFPUC.

The contractor shall submit one original invoice package with the appropriate CMD reporting forms and supporting documentation to substantiate services provided and allowable ODCs. Original invoices should be sent directly to:

San Francisco Public Utilities Commission Contract Administration Bureau – Centralized Invoice Processing Unit 525 Golden Gate Avenue, 8th Floor San Francisco, CA 94102

Contractor will work with City Staff to establish an invoice format that will correlate with appropriate City reporting requirements and will be used thereafter.

All invoices must include the following information:

Contract number; Task Order Number; Purchase Order Number(s); Index Code(s); Billing Start Date; and Billing Ending Date.

Invoice Supporting Documentation:

All labor hours must be substantiated by timesheet summaries extracted from the Contractor's accounting system. Each timesheet summary shall include the staff person's name, company, dates of the days worked, and the number of hours worked each day.

Mileage ODCs must be accompanied by mileage logs providing the beginning and ending mileage to substantiate the variable portal-to-portal distance and local driving required while performing the work. All other ODCs must be substantiated with copies of original receipts including a brief description for each receipt memorializing the purpose.

CMD Form 7 "Progress Payment Form" must be included with each invoice to identify the participation and amount payable to the subcontractors.

CMD Form 9 "Payment Affidavit" must be sent to the Contract Administration Bureau's Centralized Invoice Processing Unit within ten (10) days of receiving payment for each invoice to document the subcontractor's payment by the prime contractor.

CONSTRUCTION MANAGEMENT SERVICES - CALAVERAS DAM REPLACEMENT PROJECT **REVISED APPENDIX B-1**

Core Team in Forecast

2-Mar-15

Name	Position	Company	Bill Rate per Original Contract	Actual Raw Salary	Labor Multiplier / ESM*	Amendment 3
SUBTASK 3.2.1 - IMPLE	MENT CM SAFETY PLAN					
Elizabeth Rodgers	Safety Compliance Oversight	BV-office	\$96.12	49.48	2.25	\$111.33
SUBTASK 3.2.3 - MANA	GE CM CONTRACT					
Chris Mueller	Project Director	BV-office	\$220.00	129.05	2.25	\$290.36
Arun Parsons	Asst. Construction Mgr	BV	\$107.12	50.39	2.25	\$113.38
Jeff Bair	Project Advisor	BV-office	\$203.17	90.30	2.25	\$203.17
Lisa Ryan	Project Mgmt Support	BV-office	\$92.87	49.36	2.25	\$111.06
Jim McClain	Construction Mgr	BV	\$191.59	85.15	2.25	\$191.59
SUBTASK 3.2.4 - PUBLI	C OUTREACH					
Halli Thier	Public Outreach	Thier PR	\$208.20	99.14	2.10	\$208.19
Maria Le	Public Outreach	Thier PR	\$161.34	76.83	2.10	\$161.34
SUBTASK 3.3 - QUALIT	Y ASSURANCE					
Don Riley	Grout Program Mgr	BV	\$159.11	74.64	2.25	\$167.94
Mark Caruso	QA Inspector	BV	\$127.12	69.23	2.25	\$155.77
John Rocca	Field Operations Mgr	BV	\$147.94	73.00	2.25	\$164.25
Kaitie Zusy	Grouting Inspector	BV	\$80.18	39.48	2.25	\$88.83
Khalid Tarar	QA Electrical	BV	\$166.50	76.23	2.25	\$171.52
Tom Brittain	QA - Mechanical	BV	\$148.96	80.38	2.25 -	\$180,86
Scott Ball	QA Inspector	НИМ	\$133.30	63.24	2.20	\$139.13
Eric Bennett	QA Inspector	НММ	\$127.12	58.93	2.20	\$129.65
Collette Frawley	QA Inspector	Kleinfelder	\$73.90	38.73	2.15	\$83.27
Glen Gorski	Lead QA Inspector	Kleinfelder	\$159.89	74.37	2.15	\$159.89
James Simmons	Materials Lab Tech	Kleinfelder	\$62.57	29.10	2.15	\$62.57
Brandon Brockett	Lab Manager	Kleinfelder	\$86.86	40.40	2.15	\$86.86
Robert Hammon	QA - Welding Inspection	Kleinfelder	\$71.67	35.98	2.15	\$77.36
Alexander White	Senior Surveyor	Lee Inc	\$116.39	70.00	2.00	\$140.00
Patrick Allen	QA Inspector	Тепа	\$85.85	40.00	2.20	\$88.00
Rick Harlan	QA Inspector	Terra	\$145.41	68.40	2.20	\$150.48
SUBTASK 3.4- CONTRA	CT MANAGEMENT	<u></u>				
Ajay Singh	Estimator	Dabri	\$172.91	92.40	2.00	\$184.80
Karene Mitchem	Scheduler / Cost Control	BV	\$100.95	48.23	2.25	\$108.52
Albert Ruiz	Change Order Support	НММ	\$105.60	50.40	2.20	\$110.88
Manolito del Rosario	Contract Administration	НММ	\$163.79	79.26	2.20	\$174.37
Mohammed Parviz	Lead Scheduler	НММ	\$145.80	67.19	2.20	\$147.82
SUBTASK 3.5- PROJEC	CONTROLS					Ţ ,~~
Wendie Busby	Admin Support	BV	\$59.10	29.40	2.25	\$66.15

CONSTRUCTION MANAGEMENT SERVICES - CALAVERAS DAM REPLACEMENT PROJECT **REVISED APPENDIX B-1**

Core Team in Forecast

2-Mar-15

Name	Position	Company	Bill Rate per Original Contract	Actual Raw Salary	Labor Multiplier / ESM*	Amendment 3
Nicaremie Rodriguez	Document Control	ММН	\$83.32	38:46	2.20	\$84.61
SUBTASK 3.6- ENVIRO	NMENTAL COMPLAINCE					
James Walker	Paleontology	ATS	\$119.04	59.52	2.00	\$119.04
Bill Stagnaro	Environmental Inspector	BioMaAS	\$108.22	55.00	2.00	\$110.00
Bruce Hanson	Project Paleontologist	BioMaAS	\$116.39	58.20	2.00	\$116.40
Cullen Wilkerson	Environmental Compliance Manager	BioMaAS	\$173.14	86.57	2.00	\$173.14
Lily Henry Roberts	Archeology/Cultural Resources	ICF	\$45.76	22.46	1.98	\$44.47
Aaron Sunshine	Specialty Environmental Monitor	Shaw	\$63.31	32.11	2.15	\$69.04
Chris Perry	Environmental Inspector	Shaw	\$112.94	53.04	2.15	\$114.04
SUBTASK 3.7- NOA						
Bradley Erskine	NOA Compliance Mgr	Kleinfelder	\$175.61	82.00	2.15	\$176.30
David Herrera	NOA Monitor	SCA	\$57.79	28.90	2.00	\$57.80
Kevin Graf	Lead NOA Monitor	SCA	\$101.89	50.95	2.00	\$101.90
Siew Yee Lee	NOA Monitor - Perimeter	SCA	\$81.95	40.95	2.00	\$81.90
Tommy Nguyen	NOA Monitor	SCA	\$55.00	27.50	2.00	\$55.00
Waiman Pon	NOA Monitor	SCA	\$56.16	28.08	2.00	\$56.16
James Gooding	QA of Monte Carlo TL's	BV-office	\$140.13	70.73	2.25	\$159.14
es (James) Powell	. NOA Software Development	BV-office	NA	78.54	2.25	\$176.72
Mark Divoky	On-Site Project CIH	BV	\$149.28	66.35	2.25	\$149.29
Nayne Berman	NOA Tech Advisor	Berman	\$300.00	\$300.00	1.00	\$300.00

Current (2014-2015) bill rates based on raw salaries as provided in base contract adjusted for annual CPI increases
 Update bill rate (post amendment) is the contract ESM applied to the current raw salary.

^{*} ESM - Effective Salary Multiplier

CONSTRUCTION MANAGEMENT SERVICES - CALAVERAS DAM REPLACEMENT PROJECT **REVISED APPENDIX B-1**

Additional Resources (previously approved - on call as required)

2-Mar-15

						F
Name	Position	Company	Bill Rate per Original Contract	Actual Raw Salary	Labor Multiplier / ESM *	Amendment 3
SUBTASK 3.2.1 - IMPLEN	ENT CM SAFETY PLAN					
Jack Schill	Safety Compliance/CIH	BV	\$141.63	65.42	2.25	\$147.20
Mike Levine	Safety Compliance	BV	\$89.32	42.62	2.25	\$147.20
SUBTASK 3.2.3 - MANAG			400.0L	42.02	. 2.23	\$95.90
Jay Hesby		BV	\$220.00	400.40		
Terry King			\$220.00	138.48	2.25	\$311.58
		King	\$218.12		1.00	
Carmen Haynes		BV	New	35.07	2.25	\$78.91
Kelly Marinello		BV	\$74.86	35.66	2.25	\$80.24
SUBTASK 3.2.4 - PUBLIC	OUTREACH					
SUBTASK 3.3 - QUALITY	ASSURANCE					
Elizabeth Waldren	QA Electrical	BV	\$92.77	45.84	2.25	\$103.14
John Pudota	QA - Electrical	BV	\$142.52	73.12	2.25	\$164.52
Megan Punke	QA Inspector	BV	\$76.34	47.44	2.25	\$106.74
Minh Nuygen	QA Inspector	Kleinfelder	\$56.87	26.98	2.15	\$58.01
Kim Simmons	QA Inspector	Kleinfelder	\$75.74	35.25	2.15	\$75.79
Ellen Lee	Survey Task Manager	Lee Inc	\$148.58	85.00	2.00	\$170.00
Steve Cobbledick	Survey CAD Support	Lee Inc	\$105.18	62.00	2.00	\$124.00
Kyle Petersen	QA Inspector	Телга	\$66.00	33.00	2.20	\$72.60
SUBTASK 3.4- CONTRAC	T MANAGEMENT					7
Ravinder Domonique Kaur	Estimator	Dabri	\$143.92	92.40	2.00	\$1 84.80
Ryan Raymond	Quantity Estimating Engineer	НММ	\$80.11	36.42	2.20	\$80.12
Nitesh Poladia	Cost Estimator	BV	\$69.68	38.61	2.25	\$86.87
Stephen Hull	Lead Cost Estimator - CO's	BV-office	\$107.96	58.68	2.25	\$132.03
Marc Nelson	Quantity Estimating Engineer	нмм	\$122.78	56.88	2.20	\$125.14
SUBTASK 3.5- PROJECT			• • • • •	50.50	2.20	\$123.14
SUBTASK 3.6- ENVIRON						····
Richard Serrano	Paleontology	ATS	\$112.31	56.15	2.00	\$112.31
Debra Peterson	Environmental Inspector	BioMaAS	\$115.57	57.79	2.00	
Elizabeth Gruenstein	Specialty Environmental Monitor	BioMaAS	\$64.93	33.00	2.00	\$115.57 \$66.00
Evan Shanbrom	Specialty Environmental	BioMaAS	\$54.10	27.05	2.00	
Jill Grant	Specialty Environmental	BioMaAS	\$108.22	54.11	2.00	\$54.10
Kimberly Craighead	Monitor Specialty Environmental	BioMaAS	\$97.39	48.70		\$108.22
Milton Yaceiga	Monitor Specialty Environmental	BioMaAS			2.00	\$97.39
Steve Powell	Monitor Specialty Environmental	BioMaAS	\$108.22	54.11	2.00	\$108.22
SUBTASK 3.7- NOA	Monitor	DIUWIAA	\$132.19	66.10	2.00	\$132.19
Faye (Sandra) Hall	NOA Database Analyst	BV	€4E0 07	77.40	0.00	
Chuck Siu	NOA Database Analyst		\$162.37	77.19	2.25	\$173.68
	TOO AUVIOU	SCA	\$141.38	80.46	2.00	\$160.92

CONSTRUCTION MANAGEMENT SERVICES - CALAVERAS DAM REPLACEMENT PROJECT

REVISED APPENDIX B-1

Additional Resources (previously approved - on call as required)

2-Mar-15

Name	Position	Company	Bill Rate per Original Contract	Actual Raw Salary	Labor Multiplier / ESM *	Amendment 3
Dan Leung	NOA Monitor - Personal	SCA	\$107.11	53.56	2.00	\$107.12
Jerry Cook	NOA Monitor - Sampler Logger - Equip, Maintenance	SCA	\$84.99	42.50	2,00	\$85.00
Joe Young	NOA Monitor - Floater	SCA	\$70.45	35.23	2.00	\$70.46
Tommy Nguyen	NOA Monitor	SCA	\$55.00	27.50	2.00	\$55.00
Tucker Kalman	NOA Monitor	SCA	\$56.16	28.08	2.00	\$56.16

NOTES:

^{1.} Current (2014-2015) bill rates based on raw salaries as provided in base contract adjusted for annual CPI increases

^{2.} Update bill rate (post amendment) is the contract ESM applied to the current raw salary.

^{*} ESM: Effective Salary Multiplier